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QUESTION 1

When implementing a wireless LAN, what is the area covered by an AP and usable by a client station called? 

A. Basic Service Area 

B. Independent Basic Service Set 

C. Infrastructure Basic Service Set 

D. Service Set Identifier 

E. Basic Service Set Identifier 

Correct Answer: A 

 

QUESTION 2

What statement accurately describes an advantage of manual RF site surveys over predictive site surveys? 

A. Manual site surveys are useful for locating and identifying sources of RF interference, while predictive site surveys
are not capable of this task. 

B. Manual site surveys are more efficient than predictive site surveys in large facilities because GPS mapping can be
used. 

C. Manual site surveys are more accurate than predictive site surveys because they take advantage of complex
computer simulations. 

D. Manual site surveys allow the site surveyor to create a static RF environment, whereas predictive site surveys are
subject to changes in the RF environment. 

Correct Answer: A 

 

QUESTION 3

A WLAN bridge is best-suited for which scenario? 

A. Connecting a lightweight access point to a WLAN controller 

B. Extending the range of an autonomous access point 

C. Connecting a portable classroom to a school network 

D. Connecting a small group of wired users to an access point 

E. Linking a cash register to a workgroup bridge 

Correct Answer: C 
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QUESTION 4

Given: ABC Company has asked you to recommend a solution that will provide wireless connectivity for desktop
computers at various locations in their warehouse. The locations of the desktop computers prevent the use of Cat5e
cabling. 

What type of client adapter would provide Wi-Fi connectivity to these desktop computers? 

A. USB 2.0 

B. Mini-PCIe 

C. ExpressCard 

D. CardBus 

E. Secure Digital 

Correct Answer: A 

 

QUESTION 5

What is the most likely cause of low throughput on a hotel\\'s guest network? 

A. The 1.5 Mbps Internet connection is creating a bottleneck for the Wi-Fi users. 

B. The user\\'s laptop does not have 54 Mbps data rate enabled. 

C. The strong security methods used with public access networks often cause low throughput. 

D. The user is too close to the servicing access point. 

Correct Answer: A 
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